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General Instructions :

10.

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

In the refining of silver the recovery of silver from silver nitrate solution involves
displacement by copper metal. Give the reason for the same.

Alloys are used in electrical heating devices rather than pure metals. Give one reason.
What type of reflector is usually used in box type solar cooker ?

Draw a schematic diagram of a circuit consisting of a cell of 1.5 V, 10 () resistor and
15 Q) resistor and a plug key all connected in series.

When a solution of potassium iodide is added to a solution of lead nitrate taken in a test
tube a reaction takes place.

(a) What type of reaction is this ?

(b) Write a balanced chemical equation to represent the above reaction.

Define combination reaction. Give one example of a combination reaction which is
also exothermic.

Crystals of a substance changed their colour on heating in a closed vessel but regained
it after sometime, when they were allowed to cool down.

(a) Name one such substance.

(b)  Explain the phenomenon involved.

Write the equations for the following metals which are obtained from their compounds
by reduction process.

(a) Metal X which is low in reactivity series.
(b) Metal Y which is in middle of series.

How are the alveoli designed to maximize the exchange of gases ?

What steps can be taken to minimize environmental pollution caused by the burning of
fossil fuels ?
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A lamp rated 100 W at 220 V is connected to the mains electric supply (i) what amount 2
of current is drawn from the supply line if the voltage is 220 V ? (ii) what is its resistance?

What is an electric circuit ? Distinguish between an open and a closed circuit.

Two circular coils A and B are placed close to each other. If the current in the coil A is
changed, will some current be induced in the coil B ? Give reasons.

What is neutralisation reaction ? Give two examples.

A brown substance ‘X’ on heating in air forms a substance “Y’. When hydrogen gas is
passed over heated “Y’, it again changes back into “X'.

(i) Name the substance X and Y.
(i) Name the chemical processes occurring during both the changes.

(iii) Write the chemical equations.

Biogas is considered to be a boon to the formers. Give reasons.

Draw the labelled structure of neuron and explain the function of any of its parts.

Compare the nervous and hormonal systems for control and co-ordination in human
beings.

A compound which is prepared from Gypsum has the property of hardening when
mixed with proper quantity of water.

(i) Identify the Compound.
(i) Write the chemical equation for its preparation.

(iii) Mention one important use of this compound.
State Ohm’s law. Write a mathematical expression for it.

(i)  What precautions should be taken to avoid the overloading of domestic electric
circuits ?

(ii) An electric oven of 2 KW power rating is operated in a domestic electric circuit.
(220V), that has a current rating 5A. What result do you expect ? Explain.
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22. Study the following circuit and answer the following questions. 3
(i)  State the type of combination of the two resistors in the circuit.
(i) How much current is flowing through
(@) 10 Q and through
(b) 15 € resistors

What is the ammeter reading ?

23. Four metals A,B,C and D are inturn added to the following solutions one by one. The
observations made are tabulated below.

Metal | Iron (II) sulphate | Copper (II) Sulphate | Zinc sulphate|Silver nitrate

A No reaction Displacement —_— E—

Displacement — No reaction S

B
C No reaction No reaction No reaction |Displacement
D

No reaction No reaction No reaction | No reaction

Answer the following questions based on the above information.

(i)  Which is the most active metal and why ?
What would be observed if B is added to a solution of copper sulphate and why.
Arrange the metals A,B,C and D in order of increasing reactivity.

Container of which metal can be used to store both Zinc sulphate solution and
silver nitrate solution.

Which of the above solutions can be easily stored in a container made up of any
of these metals.

OR
Design an activity to show the conditions needed for iron nails to rust.

Why do we apply paint on iron articles ?
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A positively charged particle projected towards west is deflected towards north 5
by a magnetic field. What is the direction of the magnetic field ?

Draw the magnetic field lines of the field produced due to a current carrying
circular loop.

State the law used to find the direction of magnetic field around a straight current
carrying conductor.

OR
Which effect of the electric current is utilised in the working of an electrical fuse?
A fuse is connected in series or in parallel in household circuit ?

Draw a schematic labelled diagram of a domestic circuit which has a provision of
a main fuse, meter, one light bulb and a switch/ Socket.

Draw a diagram showing human respiratory system and label on it the following :
Larynx, Trachea, Lungs, Bronchi
Why do walls of the trachea not collapse when there is less air in it ?
OR
Describe an experiment to prove that CO, in necessary for photosynthesis.

SECTION - B
When zinc metal is added to dil HCI, the gas evolved is :
(a) oxygen (b) CO,
(0 Cl, (d) H,

To study the action of water on quick lime, quick lime is generally taken in the form of
(@) lumps (b) vapour
(c) aqueous solution (d) molten state

Sodium carbonate reacts with acids to give
(a) CO, (b) SO,
() H, d O,

The colour of the pH paper strip turned red when it was dipped into a sample. The
sample could be :

(a) dil Na,COjy solution (b) tap water

(c) dil NaOH solution (d) dilute HCl acid

Two solutions A and B were found to have pH value of 6 and 8 respectively. The
inference which can be drawn is :

(a) The stength of solution B is higher than that of A.

(b) A is an acid while B is base.

(c) both are acidic solutions.
(

d) Dboth are basic solutions.
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The resistance of an alloy

(a) increases with temperature.

(b) decreases with temperature.

(c) is constant with rise in temperature.
(d) 1is zero.

In the circuits I and II shown below the resistors R; and R, are connected in :
+ i

HHH—-)
I
parallel in both circuits
series in both circuits
c) parallel in circuit I and series in circuit II
d) series in circuit I and paralled in circuit II

Which physical quantity remains unchanged in parallel combination :
(a) voltage (b) current
(c) resistance (d) none of these

The readings of current flowing through a conductor and the Potential difference across
its two ends are shown in the ammeter and voltmeter given below. The resistance of
the conductor would be

(@)

You are given four resistors. If the resistance is to be increased then the resistors are to
be connected in :

(a) series. (b) parallel.
() mixed arrangement. (d) none of these.
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A black strip of paper was clipped on to a destarched leaf in a potted plant, to cover a 1
part of the leaf. The plant was then exposed to get sunlight for 4 hrs. The paper strip

was removed and the leaf tested for starch when iodine solution was added.

(a) the entire leaf turned blue black.

(b) the covered part of the leaf became blue black.

(c) the uncovered part of the leaf became blue black.

(d) the colour of the iodine solution remain unchanged.

In the following setup a Hydrilla plant is kept in water. In the sunlight, some bubbles
are coming out. These bubbles come from :

(i) Stomata (i) Guardcell
(iii) Chloroplast (iv) None of these

A student sets up the apparatus for the experiment to show that CO, is released during
respiration. After two hours he would observe

(a) KOH turning milky

(b) water level rising in the bent tube in the beaker.

(c) water level decreasing in the bent tube

(d) No change in water level in the bent tube.

Respiration occurs only in living cells like germinating seeds because
(a) living cells need ATP (b) living cells have glucose
(c)  living cells have O, (d) all of these

A leaf is boiled in alcohol before using iodine for a starch test in order to
(a) dissolve starch (b)  dissolve chlorophyll
(c) soften the leaf (d) make it react with iodine

While preparing a temporary stained mount of a leaf epidermal peel, the extra stain is
removed by :
(a) washing with water (b) washing with CaCl, solution

(c) soaking with filter paper (d) absorbing with cotton wool.

-00o0-
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